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1. —— Would you mind if I open the window?
— It’s too cold today.

A. Of course not. B. Yes, please. C. Why not? D. You’d better not.

2.1t so nice. How beautiful the music is!
A. smells B. sounds C. tastes D. looks
3. We didn’t work so we couldn’t succeed.

A. enough hard B. hardly enough  C. enough hardly D. hard enough

4. 1t’s very kind you to mend the roof me.
A. for; for B. of; of C. of; for D. for; of
5. His mother was reading a book he was doing homework.

A. for B. while C.because D. if
6. —— What do you think of WeChat that people often use?
—— I think it’s useful social media tool.

A. a;an B.aja C. the; an D. the; a

7. With the help of 5G, the apps on the smart phone can provide

functions for the users than before.
A. many B. more C. most D. less

8. Your mother is sleeping. Stop noise.
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A. making B. to make C. make D. made

9. You can speak English well, you?
A. can B.do C.can’t D. don’t
10. It’s about walk from her home to her school.

A. five minutes B. five minute’s C. five minutes’ D. five minute
T, IRNEIRME (205, DA 4H)

We are all busy talking about using the Internet (. BX), but how many
of us know the history of the Internet?

Many people are surprised when they find that the Internet was set up
in the 1960s. At that time, computers were large and expensive. Computer
networks (M 4% ) didn’t work well. If one computer in the network broke
down, then the whole network stopped. So a new work system had to be set
up. It should be good enough to be used by many different computers. If part
of the network was not working, information could be sent through another
part. In this way computer network system would keep on working all the
time.

At first the Internet was only used by the government, but, in the early
1970s, universities, hospitals and banks were allowed to use it too. However,
computers were still very expensive and the Internet was difficult to use. By
the start of the 1990s, computers became cheaper and easier to use. Scientists
had also developed software that made ‘surfing’ (3 %) the Internet more
convenient.

Today it is easy to get on-line (_ /%) and it is said that millions of people
use the Internet every day. Sending e-mail is more and more popular among

students. The Internet has now become one of the most important parts of
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people’s life.
11. The Internet has a history of less than years.
A. eighty B. ten C.thirty D. twenty
12. A new network system was set up to
A. make computers cheaper
B. make itself keep in working all the time
C. break down the whole network
D. make computers large and expensive
13. At first the Internet was only used by
A. government B. universities
C. hospitals and banks D. schools
14. made surfing the Internet more convenient.
A. Computers  B. Scientists C. Software  D. Information
15. Which of the following is true?
A. In the 1960s, computer networks worked well.
B. In the early1970s, the Internet was easy to use.
C. Sending e-mail is now more popular among students than before.

D. Today it is still not easy to get online.
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